SUMO

PROFESSIONAL

FULL POWER

RATED INPUT POWER 111}/

82mm(3-1/4")

asdasmsrinoiunuuinUusoe

AWwdUDONIUUINNUASS:
Uenoruns:BUDoNuUau
Physiology handle design with
soft rubber for sliding protection.
DONIUUBODSUNEWUDETD
OUs-ansmw Ia-goawnsn
conunoinsongawu awnsn
TBowida:-aon
Efficient vent desi gned, can

connect the vacuum cleaner
to the planer easily.

yunainsooidnniasa
unkuniul Tsouohe
Uaoanaasenisriy

auduJoonu 2 U

Small design, light weight
and easy to use. Double
insulation for safety.

rihndwlumsla 82 U, <
Audely &n 2 uu. x\ .

Width of blade 82mm, ™%
planing depth 2mm. i
Sy 1

X

soocd V dnsuauAuuouBUIU 1 | |

V guide for sharpen edge planing. —

QUﬂSﬂjU—]CIS?jU (Standard Accessories)

® Uolu (Guiding Ruler)

@ UsindondodN (Socket Wrench)

® AVUIUIDA(ENHSUAUAL) (Grinding Rack)
@ ADAPIVDAQ (Tool for Blade Setting)

® NIUsSOONU (Carbon Brush Size : 6x9x13.5mm)

~ IhU1:EKSU (Suitable for)

| ldlirsaurseaunuiaauitiuUUS:OLT anicioBuoU KSoMUBUIUIoIU
“ Wood planing or smoothen the sharp of wood in the artificial work, workpiece
planing or general reparation.

5815 (How to use)

BrAuludanusu 1100 MAXICUT ro HSS 1ia: TCT uunaluta 82x29x3 uu.
Use with HSS and TCT planer blade model 1100 MAXICUT, the blade
size 82x29x3mm

mumnmmmnﬂuﬂmm uas AU AR msli frieuridieu
uazA MU Whisnmgbignivihas falwluel valduinaueeeus

Read all safety wamings nnd all Instructions Failure to follow the warnings and
instructions may result in electric shock, fire or serious injury.

gRwnluda Tudan
nuuauAuidaoiuibaiduing

Sleeve spanner, steel blade with
sharpenable alloy teeth.

DcoubluansulasouBuou
Guiding ruler for edge planing.

lavouan 9 wu.
~ Shiplapping : 9 mm

= TRriviushalzonulda-aon

Working easily by tigger switch
design.

Uudonadasansunisis
oucoItiovIwWoaanNY
iJosaDINMSsnaadals

iJunaunu

Switch locker button for
continuous working to
reduce the tire of witch

press.

alloy

.
‘U 950.-/PC

4Pcs/Carton

dayanoinAGA (Technical Data) [0

ISOAUIWWA 220V
Rated Voltage

AOWAWWA 50Hz
Rated Frequency

raoiwwh 500W
Rated Input Power

AOWISOSOU 16000RPM
No Load Speed

yunaiusomu 6x9x13.5mm
Carbon Brush

ruhnawluda 82mm (3-1/4")
Planing Width

aowaniumsla 2mm(5/64")
Planing Depth

AOWENDENEIW 2m
Cable Length

ULaInSoD 29x15.7x16cm
Dimension

thKun 2.7kg

Weight




SUMO

N PROFESSIONAL

FULL POWER

RATED INPUT POWER W 1111}

o

Power Planer

Spare Parts 191




SUMO

\' PROFESSIONAL

FULL POWER

RATED INPUT POWER W11}/

Power Planer

Spare Parts 191

No. Description Thai Name QTY Price Remark
01 Pan Head Screw M4x22 1
02 Chip Cover 1
03 Scale Label 1
04 Know 44 1
05 Flat Washer10 1
06 Housing 1
o7 Name Plate 2
08 Cable 1
09 Cord Guard 1
10
11 Strain Relief 1
12 Tapping Scrw4x18 1
13
14 Switch 2
15 Handle Cover 1
16 Pan Head Screw M4x25 1
17 Ball Bearubg 600077 4
18 Fan 52 1
19 Armature 1
20 Insulation Washer 1
21 Ball Bearing 60727 1
22 Stator 1
23 Assist Fan Guide 1
24 Tapping Screw 4x6 2
25 Rubber PIN4 2
26
27 Carbon Brush 2

28 Carbon Brush Cap 1



®
 SUMO©
S PROFESSIONAL POWER|PUANER

FULL PO! g

RATED INPUT POWER 111}/

——

Power Planer

Spare Parts 191

No. Description Thai Name QTY Price Remark
29 Thumb Screw M5x10 2
30 Comperssioon Spring 1
31 Comperssioon Spring 1
32 Front Base 2
33 Pan Head Serew M5x20 1
34 Base 1
35 Ball Bearing 60827 1
36 Drum 1
37 Flange Hex.boltm6x17 4
38 Drum Plate 2
39 Pan Head Screw M4x5 2
40 Adjust Plate 1
1 82mm Planer Blade 2
42 Rubber Pin4 1
43 Ballbearing 600027 4
44 Bracket Complete 2
45  V Pulley 4-20I 1
46 Pan Head Screw M4x25 72
47 Belt Cover 1
48 Pan Head Screw M4x25 2
49 Logo Babel 1
50 Belt 1
51 V Pulley 4-37 1
52

Spring 1
Foot Rack 1

g & & &



NS0V UTWIA MODEL
ELECTRIC PLANER
NOTginal b
se——y

[snuouniin
vy HEAVYDUTY
Iauna» QENA
FULL POWER § _{5/OJW/
isodalunaoaana

Isahrsulaauuu

4.5 1.5
o
'so0ad V 3 uwna

e = N
S 5575 (How to use)

2,850.-/Pc

4 pcs/ctn

2 gunsnuunsgiu

- El
[sg%mxﬂw 290V _ ‘ i (STANDARD ACCESSORIES)
- o I3ruludanusu 1100 MAXICUT o HSS @ WSty (Carbon Brush)
il Sl TCT vunaluda 82x29x3 mm Size : 6x0x14 mm
ggtgr?}ﬂlowor 850W @ us:lm (SOCKGI Wmcm

e Use with HSS and TCT planer blade

AUISISOU model 1100 MAXICUT, the blade size @ coduluda
No-Load Speed 16500RPM 82x29x3 mm. (Sharpening Holder)
o 3.8A @ ddvluda

(Blade setting tool)
® UOU (Guide)

E!;fl%‘ll??ﬁ’““ 82 mm @ @ @ ®
Awanlunsla

Planing Depth 4 mm -

. L™ o “ V
AWENdEEIW 25m - . Lol _
m——  foumsus:nautiazmsusuncitiidaudnluoansinicn | e laliiBaurSeaunuikdauly Tuouus:aug
Yunansey  30.5x16x16.5 cm | | ideuiaus « SwuAnfeuionaiulasans ladaiu-in | ko uoundosouisuRaIU

o furua msluuguamudifiourazdonu:taraiuanig .

N 2 3.5 kg | | Thnnlwihqa 1nalwlk HSaldsunaiussusiensi| © Wood planing or smoothen the sharp
— - « Prio to assembly and adjustment ahvays pull ou the power plug from the mains of wood in the artificial work, workpiece
L i 5.1 kg i mtrciors may el il ok v o soiws oy ) planing or general reparation.

InSoVos1L : POWER TOOLS Category 08



iInSovnulww

o 111

Wi lo|  [GRUD RGN
o ] HEAVYDUTY

BoVS:U18—— —adas & Quaonadar a3asmsmoIUILY
Bovs:eaiAuiUNDUs:an5Nw Indusscalinmouce Tsoulda:aondudenadal
ElEnt Vs amsumslsoudelloo Woaaanuidogdwn

] msnaadasiduoaiunu
adIsinsev rhmnoqﬁluau Working easily t?y tigger switlch design. Switch Ipcker
1501SO NUMU 018‘ﬂ?STlfO'!UEJ'!OU'!UﬂO'WWGWGC_lﬂ button for continuous working to reduce the tire of

) ) : : b switch press.
Aluminum material, durable and long life than plastic -

housing. o P .
a@iuDU ooNIVUMUESS:ANaas
JgmoKunuau duns:udo

Physiology handle design with

soft rubber for sliding
protection.

JuryuUSUAIWEN——

anwsnusunowaniunisla
Knob of planning depth adjusting.

[ [ ] [ ] .
11152 KuoaOu
. 0 Uu.

HUNI L
Kundwolumsla 3 1/4" (82 wu.)
Width of blade 82 mm.

aalwend 2.5 u.
(Cable length 2.5 m

wiaseuvahawiu
Belt ¢

sovdd VO']UO']UHL{IUSODGOIV '[ UlﬂU ;
yunachonuanuuhamlaaunuuoull ansulavousumu = 7 T

wnluiGa—
Front base have three different size of V groove  Guide ruler for edge planning. Laugulg ﬂ;D| 8 ‘Ul.lf. Sleevgspanner
for Sharpen edge planning. sh?glap?pa rr?mp il Ll

A=10xd5 B=5x15 C=8x25

Z/fio UaluizaoadiGsuialuda HSS usudoone adalilaiseu
7 '/é/f" : Aluminum drum and HSS blade, easy to adjust and smooth planning.

InSOVLDYI : POWER TOOLS Cq’regorieo 8



R | 7 \J InSovnUIWWA
S, =32 ELECTRIC PLANER
_sume 5 _MOliginal 1 1

Ny A 4 - T
Gl il [GRUD RGN
i 422 HEAVYDUTY

SPARE PARTS

N

InSOVLDYI : POWER TOOLS Cq’regorieo 8




iy

SUMO

INDUSTRIAL

nsoonuliiin
Original 111

7Tl [GnupAlN

g3 HEAVYDUTY

SPARE PARTS

NO. DESCRIPTION QTY PRICE DESCRIPTION QTY PRICE
1. | SCREW WITH WASHER M4x14 1 30. | ADJUST SCREW 1
2. | BELTCOVER 1 31.| KNOB 1
3. | BELT 2 32.| SCALE 1
4. | V-PULLEY (BIG) 1 33.| STEELBALL25 1
5. | V-PULLEY (SMALL) 1 34. | BULLET 1
6. | SCREW WITH WASHER M4x12 10 35.| SPRING 1
7. | BRACKET 1 36. | SCREW 1
8. | BALL BEARING 6000RS 1 37.| CORD 1
9. | BALL BEARING 6200RS 1 38. | CORD GUARD 1

10. | ARMATURE 1 39. | STRAIN RELIEF 1
11.| BALL BEARING 608RS 2 40. | TAPPING SCREW 5T4.2x14 2
12.| INSULATION WASHER 1 41.| HANDLE COVER 1
13. | BAFFLE PLATE 8 42.| SCREW M5X12 1
14.| BASE 1 43.| HANDLE 1
15.| FOOT 1 44. | SWITCH 1
16. | TORSION SPRING 1 45. | FIELD COIL SLEEVE 1
17.| FRONT BASE 1 46. | FIELD COIL 1
18. | RUBBER PACKING 1 47. | FLAT WASHER 4 2
19. | ADJUST SPRING 1 48. | SCREW M4x65 2

20. | TAPPING SCREW ST4.2x14 6 49. | DRUM BODY 1

21.| MAIN HOUSING 1 50. | BLADE 2

22.| COVER OF BRUSH HOLDER 2 51. | DRUM PLATE 2

23.| CARBON BRUSH 2 52.| FLANGE BOLT M6x18 6

24.| BRUSH HOLDER 2 53.| SCREW WITH WASHER M4x8 4

25.| REARCOVER 1 54. | SOCKER WRENCH 1

26. | SCREW M4x8 5 55. | BLADE GUAGE 1

27.| CLIP COVER 2 56. | SHARPENING HOLDER ASSEMBLY 1

28. | BEARING COVER 1 57.| GUIDE RULE 1

29.| KNOB COVER 1

1IASoVT0KIY : POWER TOOLS

Co’regorieo 8



A9l TN 73]
1)

Wﬂﬂ@mkhﬂm’u TER

‘accurate for planing

oition Woaanowidosan
Ouioanunu

unSoaunurasuiiiu

size 28x1.4 cm.)

rmoneglitiay TAUIGOISIa:NUNU

ﬂmu (mamunuhvm
UMO uuna 28x1.4 BU.)
vent for belt {planner bet model 1804N

outton for continuous working to reduce

Cab!a holder to protect cable for breaking.

AudSUMoINWaNadNISudIdeSDILanUIW

ooniuulfithnuass-msduWweonUNs:5Ulio

. Handle’s made of flame resistant engineering plastic,
h % Physiology handle design and fitting handling.

7000-Pe

The body's made of aluminum, strong and durable.

1IPc/BoX¢

1. UolU (Guiding Ruler)

.k e = i IsoAuUWWA 220V
“WUS:EUQ anIIcvEULIU KSevU 2. Usaoddn (Socket Wrench) Rated Voltage
ﬁgu;lrmfjﬁoljd | i i a:mu][uuo (hnSUAUAL) (Grinding Rack) Ao UEIWWA 50Hz
Suitable for wood planing or smoothen the adavluda (Tool for Blade Setting) Rated Frequency
sharp of wood in the artificial work, i s
oning o1 sonorel reparation~ "KPe%® 5 wsDONU (Carbon Brush Size : 6.5x13.5x17 mm) MEDIWWA 960W
Rated Input Power
s AOWISoSOU 16000RPM

T3rulubanu HSS su 1804 MAXICUT

C A— ®

No Load Speed

Juhandsonu
Carbon Brush

6.5x13.5x17 mm

aunaiuba 136x32x3 u. rundwluda 136 mm (5-3/8")
Use with HSS planer blade model 1804 ® @, Planing Width
MAXICUT, size 136x32x3 mm. = =
@‘5 E= nowaniumsla 3 mm (1/32")
= ¥ Planing Depth
§ B
| AoWENoaENEIW 5 m
Cable Length
- uunaindon 43x21x16 cm
s aigeu @ @ @ Dimension
suAAeauiiannulsenis uasdauuzimouan UAUN 7.8 kg
mshidfiRmudnfeunazdauusin anaidlusiug — —voon -
WignWihga iialdlud wialasuinamduedwsieuses UINUNSOUENS 9 kg

Read all safety warnings and all suggestion. Failure to
follow the warningsand suggestion may result in electric
shock, fire or serious injury.

Gross Weight




IWwh

INSOLNU

POWER PLANER

PIOULT NU. 73/

&)

Spare Parts




IS ouNUIWWH Ve
POWER PLANER 1

Spare Parts
Sr.No Description Thai Name QTy Price Remak
1 KNOB 64 1
2 FLAT WASHER 13 1
3 NAME PLATE 1804N 1
4 RIVET 0-5 4
5 PAN HEAD SCREW M5x12 4
6 HANDLE SET 1
7 SWITCH NPAHR2-28 1
8 PAN HEAD SCREW M4x6 2
10 STRAIN RELIEF 1
11 PAN HEAD SCREW M4x18 1
12 CORD GUARD 9.3-90 4
13 POWER SUPPLY CORD 1.0-3-5.0 3
14 PAN HEAD SCREW M5x12 1
15 PAN HEAD SCREW M4x30 1
16 PAN HEAD SCREW M4x25 2
17 CHIP COVER 1
18 PAN HEAD SCREW M5x10 2
19 REAR COVER 1
20 INSULATION WASHER 2
21 CARBON BRUSH CB-153 1
22 BRUSH HOLDER CAP 6.5-13.5 2
24 HOLDER 1
25 PAN HEAD SCREW Méx16 1
26 FIELD ASS'Y 240V 1
27 BALL BEARING 6200LLB 1
28 DUST SEAL 10 1
29 PAN HEAD SCREW M5x70 2
30 ARMATURE ASS'Y 240V 1
31 FAN 80 1
32 DUST SEAL 12 1
33 BALL BEARING 6201LLB 1
34 RUBBER PIN 6 1
35 BRACKET COMPLETE 1
36 V-PULLEY 6-23L 1
37 PAN HEAD SCREW M5x25 4
38 RUBBER PIN 4 1




InSovnuUlWwi Ve
POWER PLANER 1

Spare Parts
Sr.No Description Thai Name QTYy Price Remak
39 BALL BEARING 6200Z2Z 1
40 WASHER 10 1
41 HEX. FLANGE HEAD BOLT Méx17 8
42 DRUM PLATE 2
43 PAN HEAD SCREW M4x5 4
44 ADJUST PLATE 2
45 DRUM 1
46 WASHER 12 1
47 BALL BEARING 62012Z 1
48 RUBBER PIN 6 1
49 PAN HEAD SCREW M4x8 1
50 BAFFLE PLATE 1
51 DRUM HOUSING 1
52 PAN HEAD SCREW M4x12 4
53 V-PULLEY 6-30 1
54 POLY V-BELT 6-285 1
55 BELT COVER 1
56 PAN HEAD SCREW M5x10 1
57 PAN HEAD SCREW M5x10 2
58 BEARING COVER 38 1
59 RUBBER PIN 4 1
60 MAIN FRAME 1
62 GUIDE PLATE 1
63 PAN HEAD SCREW M4vX8 2
64 COMPRESSION SPRING 24 1
65 RUBBER PACKING 1
66 FRONT BASE 1
67 COUNTERSUNK HEAD SCREW M4x12 10
68 BASE 1
69 PAN HEAD SCREW M4x8 1
76 HANDLE SET 1
77 CAP 15 1




SUMO

Model: 1 1 OX

LOT 072336008054080

2,000.-

model: 1600

LOT 072336008054080

2,200.-

InSooNUIWWA
Power Planer

INSooNUIWWA
Power Planer 3-1/4" g2 mm,)
Continuous rating Input 560 W
No load speed (rpm) 15,000 rpm
Pack 2/Ctn
InNSooNUIWWA
Power Planer 3-1/8" (80 mm.)
Continuous rating Input 750 W
No load speed (rpm) 16,000 rpm
Pack 2/Ctn

S71001 J¥3IMOd

nocgul

LMMC




